### PERRIS UNION HIGH SCHOOL DISTRICT

### AGREEMENT FOR PROFESSIONAL SERVICES

THIS AGREEMENT, made and entered into this 15th day of May, 2019, by and between the Perris Union High School District of Riverside County, California hereinafter referred to as "District," and River City Testing. hereinafter referred to as "Contractor".

#### WITNESSETH:

WHEREAS, it is the desire of the Governing Board of the District to contract with Contractor to

<u>Provide Special Inspection and Testing Services for the California Military Institute (CMI), Gym and Parking/Circulation Project.</u>

WHEREAS, in consideration of the mutual promises of the parties hereto, the District hereby retains the Contractor upon the terms and conditions set forth, and the Contractor hereby accepts said retention and agrees to render the services upon said terms and conditions.

- 1. **TERM:** The term of this Agreement shall be for a period of <u>eighteen (18) months</u> commencing <u>June 20, 2019</u>, and terminating <u>December 31, 2021</u>, unless terminated earlier pursuant to Section 15.
- 2. **INCORPORATED DOCUMENTS:** The following documents are attached to and incorporated into this agreement; River City Testing Proposal, dated March 14, 2019, attached and included herein as Exhibit B.
- 3. **SCOPE OF WORK:** As directed by the District, the Contractor agrees to perform testing and inspection services, per the contract documents as provided for in Exhibit B.
- 4. **<u>DISTRICT DESIGNEE:</u>** Contractor shall provide its Services and Products to <u>Hector Gonzalez</u>, <u>Director of Facilities</u>, who is the District's designee in this matter ("District's Designee"). All Services and Products shall be subject to the approval of District's Designee. Contractor acknowledges that District's Designee is not an authorized signatory of District. All documents requiring signature by District shall be submitted to District Purchasing Services.
- 5. **EXPENSES:** Contractor agrees and understands that some travel may be required, at Contractor's expense, to District school sites and/or to other locations. These travel expenses are not reimbursable and shall be considered to be an ordinary expense of this Agreement. Contractor shall not invoice the District for travel time from home office to a District location.

The Contractor shall assume all ordinary expenses incurred in the performance of this Agreement. Such ordinary expenses shall include, without limitation, document reproduction expenses, travel expenses, and telephone charges. Services and expenses that are above the ordinary and may be required shall not be reimbursable unless authorized in writing by the District's Designee, and shall be covered by addendum to this Agreement.

- 6. **SUBCONTRACTORS**: Contractor shall hire any subcontractors needed to provide the Services and/or the Products, which subcontractors shall be subject to approval by the District. Any additional subcontractor(s), not identified in the project proposal shall be at no additional expense to the District, and shall be paid from the Contractor's own resources and billings.
- 7. **INDEPENDENT CONTRACTOR:** It is expressly understood and agreed to by both parties hereto that the Contractor, and any of its employees or subcontractors while engaged in carrying out and complying with any of the terms and conditions of this Agreement, is an independent contractor and is not an officer, agent or employee of the District. Contractor shall determine the means, method and details of providing the Services and/or the Products. Subject to this Agreement, Contractor retains the right to provide similar or different Services or Products for others during the term of this Agreement. Contractor shall pay all wages, salaries, benefits and other amounts due its employees and sub-Contractors, and shall be responsible for all reports and obligations respecting its employees and sub-Contractors.

- 9. <u>CONFIDENTIALITY:</u> Contractor and all personnel designated by Contractor to perform under this Agreement shall maintain the confidentiality of all information received while providing the Services and/or the Products. This requirement shall extend beyond the effective termination or expiration date of this Agreement.
- 10. **EXECUTION OF CONTRACT:** Contractor shall not commence providing Services and/or the Products under this Agreement until it has provided evidence satisfactory to the District that it has secured all insurance required under Exhibit "A". In addition, Contractor shall not allow any subcontractor to commence work on any subcontract until it has provided evidence satisfactory to the District that the subcontractor has secured all insurance required under this section and Exhibit "A".
- 11. **INDEMNIFICATION:** Contractor shall defend, indemnify and hold the District, its officials, officers, employees, volunteers and agents free and harmless from any and all claims, demands, causes of action, costs, expenses, liability, loss, damage or injury, in law or equity, to property or persons, including wrongful death, in any manner arising out of or incident to any alleged acts, omissions or willful misconduct of Contractor, its officials, officers, employees, agents, Contractors and contractors arising out of or in connection with the performance of the Services and/or the Products or this Agreement, including without limitation the payment of all consequential damages and attorney's fees and other related costs and expenses. Contractor shall defend, at Contractor's own cost, expense and risk, any and all such aforesaid suits, actions or other legal proceedings of every kind that may be brought or instituted against District, its directors, officials, officers, employees, agents or volunteers. Contractor shall pay and satisfy any judgment, award or decree that may be rendered against District or its directors, officials, officers, employees, agents or volunteers, in any such suit, action or other legal proceeding. Contractor shall reimburse District and its directors, officials, officers, employees, agents or volunteers be restricted to insurance proceeds, if any, received by the District, its directors, officials, officers, employees, agents or volunteers.
- 12. The Services and/or Products required for the performance of the Services under this Agreement must be provided to the District's Designee no later than ten (10) days before the expiration of the term of the Agreement or at intermediate dates as requested by District's Designee. Failure to do so will result in the District withholding payment of progress or final invoice of Contractor until said Services and/or the Products are received by the District's Designee.
- 13. **FEE:** For Services and Products provided under the Agreement, the District will pay Contractor an amount not to exceed \$152,411.50, as per the attached Exhibit B.
- 14. <u>CONDUCT</u>: Contractor shall provide all Services and Products under this Agreement in a skillful and competent manner, consistent with the standards generally recognized as being employed by others in the same profession in California. Contractor represents and warrants that all employees and subcontractors have sufficient skill and experience to perform the Services and/or the Products assigned to them.
- 15. **TERMINATION:** This Agreement may be terminated by District, for any reason, during the life of this Agreement, by giving thirty (30) days' notice to Contractor. Said notice shall be in writing and shall be delivered to the addresses listed for the Contractor. Contractor may terminate this Agreement only if District breaches this Agreement and shall give 30 days' written notice to District of its termination. Such notice shall be delivered to the District's Designee and shall set forth reasons for the termination.
- 16. **FISCAL YEAR:** Contractor understands and agrees that this Agreement may involve services to be performed in different school fiscal years. While it is the intent of the District to utilize the Contractor continuously throughout the term irrespective of fiscal year, Contractor and District agree and acknowledge that all services in fiscal years subsequent to the fiscal year of Agreement execution is contingent upon availability of continued funding.
- 17. **AUTHORITY:** In accordance with California Education Code Section 17604, this Agreement is not valid or an enforceable obligation against the District until approved or ratified by motion of the Governing Board duly passed and adopted.
- 18. **ENTIRE AGREEMENT:** It is understood and agreed that this Agreement sets forth the entire understanding of the parties regarding the subject matter thereof, and no modification or amendment to this Agreement shall be binding unless said modification or amendment is in writing and duly executed with the same formality as this Agreement itself. This Agreement shall be binding on the successors and assigns of the parties.
- 19. **PERMITS & LICENSES**: Contractor shall, during the term of this Agreement, obtain and maintain all licenses, certificates, permits and approvals of whatever nature that are legally required to provide the Services and/or Products.

- 20. **GOVERNING LAW:** This Agreement shall be governed by the laws of the State of California.
- 21. **COMPLIANCE:** Contractor shall keep itself fully informed of and in compliance with all local, state and federal laws, rules and regulations in any manner affecting the provision of the Services and/or the Products, including all Cal/OSHA requirements, and shall give all notices required by law. Contractor shall be liable for all violations of such laws and regulations in connection with providing the Services and/or the Products. If the Contractor performs any work knowing it to be contrary to such laws, rules and regulations and without giving written notice to the District, Contractor shall be solely responsible for all costs arising therefrom. Contractor shall defend, indemnify and hold District, its officials, directors, officers, employees and agents free and harmless, pursuant to the indemnification provisions of this Agreement, from any claim or liability arising out of any failure or alleged failure to comply with such laws, rules or regulations.
- 22. **RECORDS:** Contractor shall maintain complete and accurate records with respect to all costs and expenses incurred under this Agreement. All such records shall be clearly identifiable. Contractor shall allow a representative of District during normal business hours to examine, audit, and make transcripts or copies of such records and any other documents created pursuant to this Agreement. Contractor shall allow inspection of all work, data, documents, proceedings, and activities related to the Agreement for a period of three (3) years from the date of final payment under this Agreement.
- 23. **FINGERPRINTING:** This contract is subject to the provisions of Education Code Section 45125.1. Contractors' employees are required to submit fingerprints to the Department of Justice where an employee may come into contact with students at any site. The Department of Justice will ascertain whether the employee has a pending criminal proceeding for a violent or serious felony or has been convicted of a violent or serious felony as they are defined in Penal Code Sections 667.5c and 1192.7c respectively. Contractor shall not permit an employee to come in contact with students until the Department of Justice has ascertained that the employee has not been convicted of a felony as defined in Education Code Section 45122.1. Contractor shall certify in writing to the District that none of its employees who may come in contact with students have been convicted of a felony as defined in Education Code Section 45122.2. District may request the removal of an employee from a site at any time. Failure to comply with this provision may result in termination of the Contract.
- 24. **NONDISCRIMINATION**: It is the policy of the District that in connection with all work performed under contracts, there be no discrimination against any prospective or active employee engaged in the work because of race, color, ancestry, national origin, religious creed, sex, age, or marital status. Each Contractor agrees to comply with applicable Federal and California laws including, but not limited to, The California Fair Employment Practice Act, beginning with Government Code Section 12900, Labor Code Section 1735, and Title 5, Division 1, Chapter 1, Subchapter 4 of the California Code of Regulations. In addition, each Contractor agrees to require like compliance by any subcontractors employed on the work by him.
- 25. **WORKERS' COMPENSATION**: In accordance with the provisions of Section 3700 of the Labor Code, Contractor shall secure the payment of compensation to his employees.
- 26. **WAIVER:** No waiver of any default shall constitute a waiver of any other default or breach, whether of the same or other covenant or condition. No waiver, benefit, privilege, or service voluntarily given or performed by a party shall give the other party any contractual rights by custom, estoppel, or otherwise.

Contractor has all requisite power and authority to conduct its business and to execute, deliver, and perform the Agreement. Each party warrants that the individuals who have signed this Agreement have the legal power, right, and authority to make this Agreement and bind each respective party.

IN WITNESS THEREOF, the parties hereto have executed this Agreement on the date written above:

4

### Contractor:

Steve Potter, River City Testing Type or Print Contractor's Name				
Contractor's Signature				
April 22, 2019 Date				
7338 Sycamore Canyon Blvd. Ste.				
Contractor's Address				
Riverside, CA 92508				
City State Zip				
951-697-1000 951-697-1030				
Phone Fax				
steve.potter@rivercitytesting.biz				
Contractor's Email Address				
DISTRICT:				
Type or Print District Approver's Name				
District Approver's Signature				
District Approver's Title				
Date				

#### **EXHIBIT "A" - Insurance Requirements**

- A. <u>Minimum Requirements</u>. Contractor shall, at its expense, procure and maintain for the duration of this Agreement insurance against claims for injuries to persons or damages to property which may arise from or in connection with the performance of the Agreement by the Contractor, its agents, representatives, employees or subcontractors. Contractor shall also require all of its subcontractors to procure and maintain the same insurance for the duration of the Agreement. Such insurance shall meet at least the following minimum levels of coverage:
- B. <u>Minimum Scope of Insurance</u>. Coverage shall be at least as broad as the latest version of the following: (A) *General Liability*: Insurance Services Office Commercial General Liability coverage (occurrence form CG 0001); (B) *Automobile Liability*: Insurance Services Office Business Auto Coverage form number CA 0001, code 1 (any auto); and (C) *Workers' Compensation and Employers' Liability*: Workers' Compensation insurance as required by the State of California and Employer's Liability Insurance.
- C. <u>Minimum Limits of Insurance</u>. Contractor shall maintain limits no less than: (A) *General Liability*: \$1,000,000 per occurrence for bodily injury, personal injury and property damage. If Commercial General Liability Insurance or other form with general aggregate limit is used, either the general aggregate limit shall apply separately to this Agreement/location or the general aggregate limit shall be twice the required occurrence limit; (B) *Automobile Liability*: \$1,000,000 per accident for bodily injury and property damage; and (C) *Workers' Compensation and Employer's Liability*: Workers' compensation limits as required by the Labor Code of the State of California. Employers Liability limits of \$1,000,000 per accident for bodily injury or disease.
- D. <u>Professional Liability</u>.[INCLUDE IF APPLICABLE] Contractor shall procure and maintain, and require its sub-Contractors to procure and maintain errors and omissions liability insurance appropriate to their profession. Such insurance shall be in an amount not less than \$1,000,000 per claim, and shall be endorsed to include contractual liability.
- E. <u>Insurance Endorsements</u>. The insurance policies shall contain the following provisions, or Contractor shall provide endorsements on forms supplied or approved by the District to add the following provisions to the insurance policies:
- (1) General Liability. The general liability policy shall be endorsed to state that: (A) the District, its directors, officials, officers, employees, agents and volunteers shall be covered as additional insured with respect to the Services and/or the Products or operations performed by or on behalf of the Contractor, including materials, parts or equipment furnished in connection with such work; and (B) the insurance coverage shall be primary insurance as respects the District, its directors, officials, officers, employees, agents and volunteers, or if excess, shall stand in an unbroken chain of coverage excess of the Contractor's scheduled underlying coverage. Any insurance or self-insurance maintained by the District, its directors, officials, officers, employees, agents and volunteers shall be excess of the Contractor's insurance and shall not be called upon to contribute with it.
- Automobile Liability. The automobile liability policy shall be endorsed to state that: (A) the District, its directors, officials, officers, employees, agents and volunteers shall be covered as additional insureds with respect to the ownership, operation, maintenance, use, loading or unloading of any auto owned, leased, hired or borrowed by the Contractor or for which the Contractor is responsible; and (B) the insurance coverage shall be primary insurance as respects the District, its directors, officials, officers, employees, agents and volunteers, or if excess, shall stand in an unbroken chain of coverage excess of the Contractor's scheduled underlying coverage. Any insurance or self-insurance maintained by the District, its directors, officials, officers, employees, agents and volunteers shall be excess of the Contractor's insurance and shall not be called upon to contribute with it.
- (3) <u>Workers' Compensation and Employers Liability Coverage</u>. The insurer shall agree to waive all rights of subrogation against the District, its directors, officials, officers, employees, agents and volunteers for losses paid under the terms of the insurance policy which arise from work performed by the Contractor.
- (4) <u>All Coverages</u>. Each insurance policy required by this Agreement shall be endorsed to state that: (A) coverage shall not be suspended, voided, reduced or canceled except after thirty (30) days prior written notice by certified mail, return receipt requested, has been given to the District; and (B) any failure to comply with reporting or other provisions of the policies, including breaches of warranties, shall not affect coverage provided to the District, its directors, officials, officers, employees, agents and volunteers.
- F.Other Requirements. All insurance required by this Section shall contain standard separation of insureds provisions. In addition, such insurance shall not contain any special limitations on the scope of protection afforded to the District, its directors, officials, officers, employees, agents and volunteers. Any deductibles or self-insured retentions must be declared to and approved by the District. Contractor shall guarantee that, at the option of the District, either: (A) the insurer shall reduce or eliminate such deductibles or self-insured retentions as respects the District, its directors, officials, officers, employees, agents and volunteers; or (B) the Contractor shall procure a bond guaranteeing payment of losses and related investigation costs, claims and administrative and defense expenses. Insurance is to be placed with insurers with a current A.M. Best's rating no less than A:VIII, licensed to do business in California, and satisfactory to the District. Contractor shall furnish District with original certificates of insurance and endorsements effecting coverage required by this Agreement on forms satisfactory to the District. The certificates and endorsements for each insurance policy shall be signed by a person authorized by that insurer to bind coverage on its behalf, and shall be on forms provided by the District if requested. All certificates and endorsements must be received and approved by the District before work commences. The District reserves the right to require complete, certified copies of all required insurance policies, at any time.

### EXHIBIT B River City Testing, Proposal, dated March 14, 2019



## River City Testing

7338 Sycamore Canyon Blvd., Ste. 4 ~ Riverside, CA 92508 (951) 697-0800 ~ fax (951) 697-5744

Revised March 22, 2019

March 14, 2019

Mr. Hector Gonzalez Director of Facilities Perris Union High School District 155 E. 4 St. Perris, CA 92570

Mr. Gonzalez:

E-MAILED TO: hector.gonzalez@puhsd.org

RE: California Military Institute Gymnasium

DSA Application Number 04-117653, File Number 33-H8

DSA Special Inspections and Testing

Pursuant to your request, I am providing this proposal for the referenced services. This proposal is based on review of **DSA-approved drawings**. It is our understanding that this project will begin on June 2019 and will be completed by December 2021. Our estimated fee is outlined on the following page. I have also attached our general Fee Schedule.

Please contact me if you have any questions regarding our services or fees.

Sincerely,

Robert Schumacher Director of Operations

attachment

# FEE SCHEDULE PERRIS UNION HIGH SCHOOL DISTRICT CALIFORNIA MILITARY INSTITUTE GYMNASIUM

Engineer:	16 hours @ \$159.00 per hour	\$	1,704.00
Soils Technician:	240 hours @ \$92.50 per hour	•	22,200.00
Special Inspector Batch Plant/Concrete:	80 hours @ \$92.50 per hour	\$	7,400.00
Special Inspector Load Testing:	40 hours @ \$92.50 per hour	\$	3,700.00
Special Inspector Masonry:	400 hours @ \$92.50 per hour	\$	37,000.00
Special Inspector Rebar Sample:	32 hours @ \$92.50 per hour	\$	2,960.00
Special Inspector Visual Welding Field:	256 hours @ \$92.50 per hour	\$	23,680.00
Special Inspector Visual Welding Shop:	320 hours @ \$92.50 per hour	\$	29,600.00
Extract Core Samples:	16 hours @ \$144.00 per hour	\$	2,304.00
Ground Rod Testing:	7 tests @ \$100.50 per hour	\$	703.50
Non-Destructive Testing (U.T./Mag. Particle)	40 hours @ \$106.50 per hour	\$	4,260.00
Steel Truss Inspections Out of State	,	\$	5,000.00
Soils Maximum Density Test:	4 tests @ \$125.00 per test	\$	500.00
Sand Equivalent Test:	2 tests @ \$90.00 per test	\$	180.00
Mix Design Review:	3 mixes @ \$125.00 per mix	\$	375.00
Concrete Compression Test (15 sets of 4):	60 tests @ \$25.00 per test*	\$	1,500.00
Concrete Block Conformance Package:	2 sets @ \$300.00 per set	\$	600.00
Grout Compression Test (8 sets of 4):	32 tests @ \$25.00 per test*	\$	800.00
Mortar Compression Test (21 sets of 4):	84 tests @ \$25.00 per test*	\$	2,100.00
Masonry Core Compression Testing:	3 tests @ \$30.00 per test	\$	90.00
Masonry Core Shear Test:	3 tests @ \$50.00 per test	\$	150.00
Masonry Prism ½ Size Compression:	4 tests @ 150.00 per test	\$	600.00
High Strength Bolt Conformance Test:	3 sets @ \$150.00 per set	\$	450.00
Rebar Bend Test:	25 tests @ \$34.00 per test	\$	850.00
Rebar Tensile Test:	25 tests @ \$39.00 per test	\$	975.00
Deliver Samples to Testing Lab:	14 trips @ \$70.00 per trip	\$	980.00
DSA Interim Verified Reports:	8 reports @ \$100.00 per report	\$	800.00
One DSA 293 Final Geotechnical Affidavit:		\$	500.00
One DSA 291 Final Laboratory Affidavit:		\$	450.00
ESTIMATED TOTAL		\$1	152,411.50

<sup>\*</sup>If hold sample does not require testing we will only bill \$10.00 per hold sample for disposal fee.

\*Rates will be adjusted yearly. Hourly rates will increase \$2.50 each July 1.

### NOTE REGARDING OVERTIME RATES:

Normal hours: eight hours Monday-Friday, excluding any Holiday

Overtime hours (1.5 X): first 4 overtime hours Monday-Friday and first 12 hours on Saturday,

excluding any Holiday

Double-time hours (2 X): all hours over 12 on Monday-Saturday and all hours on Sunday or Holiday All invoices are due within 30 days. Interest in the amount of  $\frac{1}{2}$ % per month will be added to all past-due amounts.

If any work is required to be added by an outside consultant, not included on this proposal, we will bill our cost plus 10%.

Prices include all required equipment, supervision, and reporting costs.

# RIVER CITY TESTING SCHEDULE OF FEES FOR LABORATORY TESTING AND INSPECTION SERVICES PERRIS UNION HIGH SCHOOL DISTIRCT EFFECTIVE THROUGH JUNE 30. 2019\*

**Laboratory Test, Test Designation, and Price Per Test** 

		signation, and throot of tool	
SOILS		CONCRETE	
Atterberg Limits D 4318	\$184	Compression Test 4x8 Cylinder C 39	\$ 25
California Bearing Ration	\$450	Compression Test 6x12 Cylinder	\$ 30
Chloride and Sulfate Content	\$135	Concrete Mix Design Review	\$125
Consolidation D 2435	\$245	Concrete Core Compression Test C 42	\$ 38
Direct Shear – Undisturbed D 3080	\$275	Flexural Test C 78	\$ 75
Direct Shear – Remolded D 3080	\$275	Flexural Test C 293	\$ 75
Durability Index CT 229	\$260	Flexural Test CT 523	\$ 75
Expansion Index D 4829	\$460	Gunite/Shotcrete Samples (3 cores)	\$225
Expansion Potential (Method A) D 4546	\$520	Splitting Tensile Strength	\$ 95
Expansive Pressure (Method C) D 4546	\$225	REINFORCING AND STRUCTURAL STEEL	
Geofabric Tensile and Elongation Test D 4632	\$225	Fireproofing Density Test UBC 7-6	\$ 35
Permeability D 2434	\$400	Hardness Test, Rockwell A 370	\$ 30
pH and Resistivity CT 643	\$100	High Strength Bolt, Nut, & Washer Conformance set A 32	5 \$150
Proctor Density D 1557 (Soils Max Density)	\$125	Pre-Stress Strand (7 wire) A 416	\$160
R-Value D 2844	\$345	Chemical Analysis A-36, A-615	\$140
Sand Equivalent D 2419	\$ 90	Reinforcing Steel Tensile (up to #11) A 615, A 706	\$ 39
Sieve Analysis D 422	\$ 85	Reinforcing Steel Bend (up to #11) A 615, A 706	\$ 34
Sieve Analysis D 1140	\$125	Structural Steel Tensile (excluding machining) A 370	\$ 65
Specific Gravity D 854	\$230	Welded Reinforcing Steel Tensile (up to #11 bars)	\$ 50
Soils Inorganic Impurities Test	\$200	Grade BD Anchor Test	\$275
AGGREGATES		Machining of Steel F	er Quote
Absorption C 127, C 128	\$ 50	ASPHALT CONCRETE	
Durability CT 229	\$260	Mix Design Review (Job Spec)	\$125
Sand Equivalent CT 217	\$ 90	Extraction/Gradation D 2172, CT 310	\$250
Sieve Analysis C 136	\$120	Hveem Stability and Unit Weight CT 366	\$180
Specific Gravity Coarse C 127	\$140	Marshall Stability, Flow and Unit Weight T 245	\$265
Specific Gravity Fine C 128	\$120	Maximum Theoretical Unit Weight D 2041	\$150
MASONRY		Swell CT 305	\$180
Concrete Block Compression Test C 140	\$ 50	Unit Weight (sample or core) D 2726	\$290
Concrete Block Linear Shrinkage C 426	\$345	MISCELLANEOUS	
Concrete Block Unit Weight and Absorption C 140	\$ 50	Disposal of Hold Sample per sample	\$ 14
Concrete Block Conformance Package C 90	\$300	Pick up an deliver samples per trip	\$ 70
Masonry Grout 3x3x6 Prism Compression UBC 21-18	\$ 25	Slip Resistant Testing per hr (ASTM E303)	\$275
Masonry Mortar 2x4 Cylinder Compression UBC 21-16	\$ 25	Infiltration Test per hr (F2898)	\$177
Masonry Core Compression Test CBC	\$ 30	DSA Interim Verified Report	\$100
Masonry Core Shear Test CBC	\$ 50		er Quote
Masonry Prism half size Compression	\$150		er Quote
Grout or Mortar Mix Design Review	\$125	DSA Inspection at Southern Bleachers/Doyle Mfg F	er Quote
Veneer Adhesion Test	\$155		er Quote
HOLIDI A CHADGES EUD DEDSUNNEL			

### **HOURLY CHARGES FOR PERSONNEL**

Special Inspector Asphalt (Nuclear Gage)	\$ 93.50
Special Inspector Batch Plant/Concrete	\$ 92.50
Special Inspector Fireproofing	\$ 92.50
Special Inspector Epoxy Installation	\$100.50
Special Inspector Load Testing	\$100.50
Special Inspector Masonry	\$ 92.50
Special Inspector Miscellaneous Inspections per DSA	\$ 92.50
Special Inspector Pachometer	\$ 92.50
Special Inspector Rebar Sample	\$ 92.50
Special Inspector Shotcrete	\$ 92.50
Special Inspector Structural Steel, Welding, and Bolting	\$ 92.50
Ground Rod Testing	\$100.50
Ultrasonic Testing	\$106.50
Magnetic Particle Testing	\$106.50
Soils Technician	\$ 91.50
Extracting Core Samples	\$144.00
Engineer (upon request)	\$159.00

\*Rates will be adjusted yearly, rates will increase \$2.50 each July 1.

Fees include all required equipment, supervision, and reporting costs. There will be no charge for travel to and from the job site. There will be a fee for all inspections that take place outside of a 50-mile radius of the job site. If any work not included on our proposal is required by an outside consultant, we will bill our cost plus 15%.